Saint Margaret's High School Mathematics Department

Level 2
Unit 1

Place Value (MNU 2-02a)

Addition/Subtraction (MNU 2-03a & MNU 2-01a)
Rounding and Estimation (MNU 2-01a)

Decimals (MNU 2-03b)

Multiplying/Dividing (MNU 2-03c, MTH 2-05aq)
Decimals, Fractions and Percentages (2-07a/b/c)
Statistics (MNU 2-20a/b, MTH 2-21a)

Measure (MNU 2-11a/b)

Time (MNU 2-10a/b/c)




Place Value (MNU 2-02a)

1. What do the following digits stand for in the number 6294 :-
a6 b 2 c9 d4?

2. What does the 4 stand for in each of these numbers :-
a 4392 b 6540 c 3694 d 7488 ?

3. Write out the following humbers fully in words :-
a 5260 b 8043 c 24 086 d 40 070
e 30 508 f 90 740 g 71080 h 66 666.

4. Write the following numbers using digits :-

a seveh hundred and eight b forty thousand and sixty

¢ eighty thousand and eight d thirty four thousand and six
e fiffy thousand five hundred and fifty five

f eighty nine thousand nine hundred and nine

g one hundred thousand and one.

5. Put the following sets of numbers in order, smallest first -
a 562, b08, 499, 603, 553, 612, 503, 705, 594
b 4075, 4170, 3989, 4084, 4109, 4230, 4189, 5006.

6. Write down the number that is :-

a 10 after 370 b 300 after 710 ¢ 80 before 560

d 400 before 7470 e 3000 after 6888 f 2000 before 5100
g 3500 after 7500 h 5000 before 8280 i 6700 before 8100,
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For more practice use "Show Me" boards.
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Place Value (MNU 2-02a)

7. Look at the following scales. What numbers are represented by
the letters A, B, C, ...
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8. What are the readings on these The:r*mcme:Ter"s ?
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9. What number lies half-way between :-
a 230 and 240 b 2300 and 2500 ¢ 7400 and 7800
d 5900 and 6500 e 1700 and 2700 f 4060 and 5160 ?

For more practice use "Show Me" boards. H'
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Addition/Subtraction (MNU 2-03a & MNU 2-01aq)

Try to do this exercise mentally

1. Write down the answers to -

a 48 + 35 b 53 +29 c 69+ 37 d 17 + 98

e 85 +55 f76+75 g 126 + 58 h 80+79

i 350 + 290 j 410 + 390 k 460 + 750 | 830 + 990

m 5600 + 6500 n 3800 + 4200 o 7800 + 1400 p 2850 + 7150.

2. Write down the answers to :-

a 63-051 b 74 -39 c 66 - 38 d 41-16
e 90-35 f 82-25 g 100 - 43 h 180 - 49
i 360 - 290 J 780 -440 k 470 - 190 | 540 - 180

m 2900 -980 n 4400 - 2600 o 6600- 3700 p 10000 -4700.

3. Find :-
a 360+ 770 b 1630-590 ¢ 5450+ 3900 d 6740 -4350
e 7650 + 3670 f 8880-2280 g 1530+9290 h 9780 - 8790,

4. a A train with 163 passengers stops at a station.
At the station 38 people get on the train.
How many are there now on the frain ?

The garage charged Mr Grant £199 for parts and £104 for
. labour,
How much was Mr Grant's total garage bill ?

¢ Alex earned £1560 per month and Drew earned £983.
(i) How much did they earn altogether ? =
(ii) How much more did Alex earn than Drew ? IF-a
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For more practice use "Show Me" boards. & i
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Addition/Subtraction (MNU 2-03a & MNU 2-01q)

Show all your working for this exercise
5. Copy the following and find the answers :-

a 352 b 469 c 386 d 978
+ 168 + 357 + 566 + 213

e 626 f 5003 g 3456 h 7374
- 386 + 3087 + 5678 - 5895

i 3000 b 7777 k 6052 | 10000
- 893 +1999 ~ 3463 - 8409

m 5389 + 364 n 2345 + 6666 o 8527 -5521 p 8000-374
q 5802 + 4299 r 7006 - 2967 s 8429+368 1 10000 - 7391

6. There were 2872 Raith Supporters and 4188 Dunfermline
supporters at the local derby match. |
a How many supporters were there altogether ?

b How many more Dunfermline than Raith supporters were
there ?

— From 9 pm until midnight a train fravels 637 kilometres.
From midnight until 1 am it travels 199 kilometres.
How far has the train travelled in total ?

b Harry bought 3250 bricks to build a wall.
When he had finished, he found he had
280 bricks left over.

How many bricks had Harry used to build the wall ?
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For more practice use "Show Me" boards. '[i
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Rounding and Estimation (MNU 2-01aq)

1. Round to the nearest 10 :-

a 68 b 23 c 76 d 85
e7 f 434 g 486 h 691
i 16 j 805 k 937 | 899
m 7851 n 4805 0 8999 p 17 358,

2. Round to the nearest 100 :-

a 631 b 873 c 627 d 759
e 452 f 619 g 2549 h 4081
i 6609 J D993 k 3255 | 6764
m 26 270 nh 43792 o 36 755 p 98 899,

3. A Junior Football Cup Final between Auchinbarr
and Musselberg had an attendance of 7251,

Round this figure to the nearest :- , 2 \g
a 10 b 100, % éh'
4, 9985 copies of the local newspaper were sold last week.

~Round this figure to the nearest :-
L ~a 10 b 100.

5. A survey showed that in one day, thirty seven
thousand eight hundred and sixty four vehicles
passed over the Golden Gate Bridge in San Francisco.
Round this figure to the nearest :-
a 10 b 100.

For more practice use "Show Me" boards. ‘[L




Rounding and Estimation (MNU 2-01aq)

6. Round each number to 1 figure accuracy, then give an estimate tfo :-

a 18 + 61 b 41+ 57 c/72-56 d 68 +23
e 91-19 f 285 + 149 g 708 - 169 h 137 + 917
i 456 + 274 J 890 -678 k 1811 + 518 | 3822 - 829,

7. a Denis has 291 Jinju cards, Frank has 87. {@Mﬁ]
Yoshi || Tishu

Approximately, how many do they have in fotal ?

b Cheryl has saved £423. Heather has saved £572.
Approximately, how much have they saved in fotal ?

8. Give an approximate answer to each of the following :-
a 66 -28 b 88 - 21 c 417 -98 d 807 - 180
e 915-777 f 888 - 326 g b41-196 h 982 - 655,

9. Round each number to 1 figure accuracy, then give an estimate to :-
a 47 + 41+ 38 b 885-519 - 99 c 712 + 301 - 559,

10. a There are 219 nails in a box. Approximately how many are there in 4
boxes ?

b Of the 990 bananas delivered to a supermarket, 164 of them were bad.
Approximately how many of the bananas were ok to eat ? #

'y
|

¢ What is 199 + 299 + 399 + 499 approximately equal to ? \ ~

For more practice use "Show Me" boards. ‘[L




Decimals (MNU 2-03b)

1. In this question, | .1 {stands for 1 (whole number).

What do the following diagrams represent ?

T T 1
T L1
a B b kol bl L.
I | T
Pt Lol

2. Draw neaf pictures, in the same style as shown above, to represent :-
a 04 b 1-8 c 23 d 62,

3. In the decimal number 26:89, what does the :-
a 8 represent b 9 represent ?

4. What does the 7 represent in each of these numbers :-
a 7218 b 23572 ¢ 57:02 d 26:37?

5. Arrange the following numbers in order, smallest first :-
0-85, 106, 0-07, 0-94, 0-04, 1-21.

6. What number is :-

3

a 0-1up from 1-6 b — down from 57 ¢ = up from 2.85
10 100

7. What number lies half way between :-

a 0-3and 05 b 0-8 and 1-0 c22and 28

d 43 and 47 e 54 and 55 f0land02?
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Decimals (MNU 2-03b)

Rounding Decimal Scales

. Write what number each of these arrows is pointing fo :-
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Decimals (MNU 2-03b)
Rounding to the nearest Whole Number

9. When each decimal is rounded to the nearest whole number, which of
the two numbers in the brackets is the correct answer :-

ab62(6or7)? b 47 (4 orB)? %ﬂ
c59(Bor6)? d34(30r4)? \ B
e 1316 (13 or 14)? f 1786 (17 or 18)? '
g45(4orb)? h605(6o0r7)?

i 80:65 (80 or 81)? j 200-28 (200 or 201) ?

10. Copy and complete these statements :-
a 1-8 lies between 1 and 2 . It is closer to ...
b 3-4 lies between 3 and ... It is closer to ...
¢ 85 lies between ... and ... It is closer to ... (remember the rule)
d 2-59 lies between ... and ... It is closer to ...
e 6-23 lies between ... and ... It is closer fo ...
f 0-74 lies between ... and ... It is closer to ...
g 15-8 lies between ... and ... It is closer to ...
h 33-54 lies between ... and ... It is closer to ...
i 6982 lies between ... and ... It is closer to ...

11. Round these to the nearest whole £ :-

a £6:20 b £8:90 c £4:30 d £5-60
e £14-80 f £16:50 g £19-49 h £17-71
i £0-43 j £0:53 k £0-50 | £106-48,

12. Round these measurements to the nearest whole centimetre :-

a 84 cm b 96 cm ¢ 10-8 cm d 3-1cm
e 447 cm f 7-85 cm g 1829 cm h 2463 cm
i 26:27 cm j 3899 cm k 43-14 cm | 69-50 cm.
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